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Circle the number that is greatest.

four hundred thirty-seven or 407

two hundred sixty-seven or 2,670

eight hundred twenty-eight thousand ten or 82,831

10,600 or thirteen thousand six hundred forty-three

Robert never spends the coins he gets.  He has 28 dimes.  But that's nothing!  He has 3 times 

as many nickels as dimes.  How much money does he have in all?
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END 8 + 7 - 9

12 - 7 + 3 x 4

11 x (7 x 3)

12 x 20 ÷ 4

END

(5 x 11) - 6

2 + 9 x 1 + 9

(8 + 5) x 11

2 x 48 ÷ 4

2 + 2 x 1 + 10

END 384 + 20

405 + 20141 + 25

321 + 28

424 + 46 402 + 24

END

1 x 4 + 6

2 + 3 - 3

12 + 2 + 1

12 x 7 - 8

8 - 1 - 3

6 + (8 x 11) - 9

12 - (6 - 5) - 3

START

4

Draw a line from START to END.
14 470 4
6

Cross out the number you use above and then write it below.
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The block above is the sum of the two blocks below.  Fill in the missing blocks.

22 36 15 5 17 31

51

518

514.6 662.8

1446.6 1365.9 1290.5

5240

What is 14 less than 1,899? Round 1346 to the nearest 
hundred.

Is 589 closer to 500 or 
600?
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Megan is packing picnic 
baskets for her family's 
annual beach picnic. 
The picnic is so much 
fun! She gets to see all 
her aunts and uncles 
and cousins at one time. 
There will be 28 people 
at the picnic this year. 
Each basket has food 
for 4 people. How many 
baskets will she need to 
pack?

David lives on a dairy 
farm. He takes care of 
14 of the cows by himself.
When he feeds them, 
he puts enough grain in 
the bucket for 2 cows. 
He empties it, and then 
goes back for enough 
for 2 more cows. How 
many times does he 
have to fill the bucket to 
feed all the cows?

Amy ate 2 cups of 
yogurt each day for 5 
days. Wendy ate 3 cups 
of yogurt each day for 
5 days. How many more 
cups did Wendy eat?

Locate where to put the number 581,000
and label the point B.

576,000 596,000

What is the mode of these 
numbers?

24, 22, 27, 25, 29, 20, 22, , 19

Color in 1
2 of the rectangle. Write the number for 

eighty thousand,  seven 
hundred twelve.

6 3
+ 2 9

The factors of 12 are 1 12
In the number 281,473, what 
digit is in the hundreds place?

Write the unshaded part as a decimal. In each pair, circle the word that is 
spelled correctly.
freaze, freeze
fryde, fried
growl, growel
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Fill in the boxes so each line equals 13.

13

x 1

18 -

÷ 2

( + ) - 11

What place value does the 9 
have in 96,283?

Which is smaller, 3
6 or 7

9 ?
7 x 8 = 8

x 4

2
x 6

Adam's birthday is in June.  
April's birthday is two months 
after Adam's birthday.  What 
month is April's birthday? 6 54 2 4 4 28

3 21 9 72 9 45

Write the numeral for five 
hundred seventy-four.

Fill in the missing fractions.

, 4
10 , , 6

10 5 45

Write the correct symbol.

< = >

558 1,558

9 7
- 9 1
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What is the value
of the BIG digit?

3,230,510

If you add 8 to me, the sum is 
49.  What number am I? 4 2

2 0
+ 1 1

4 5
4 0

+ 1 2

Round the number to the
place value of the BIG number.

851 ,354

How many 4s are in 20?

7 5

- 4 5

3 4

Fill in the blanks with
these numbers:

0, 5, 1

4

- 1 0 3

3 3

Fill in the blanks with
these numbers:

2, 4, 9
9 9

- 9 1

9
x 7

1 1
x 5

2
x 2

7
x 1 1

2
x 1

1
x 9

Write the length in inches.

in. 1 2 3 4 5 6

If C + C = 16, then what does 
C equal?

What is the third month with 
31 days?
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785,96
+ 594,83

460,081
- 608,28

887,15
- 320,82

058,8
- 816

282,1
+ 158

887,3
+ 702

521
+ 564

125
- 482

338
- 116

402,2
- 151,1

103,5
+ 428,4

418,4
+ 478,7

036,39
- 437,7

850,67
- 722,7

197,88
- 406,1

715
+ 782

954
+ 006

357
+ 752

483,7
- 906

362,4
- 818

534,9
+ 854

9
+ 4

+ 9

- 5

+ 7

42
+

33
+ 5

- 7

- 2

92
-

02
+

52
+

13
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3 - 0 = 1 0 - 7 2 4 9 + 1 1 6 3 +
3 5 6

Use the pieces above to help you fill in the runaway math puzzle.

7 8 - 3 9 =
Amy and Maria ran a race.  
Amy came in thirtieth place.  
Maria was one runners after 
Amy.  Write the ordinal 
number for the place that 
Maria came in.

meehlt

meht

melt

meelt

Round to the nearest thousand.

85,344 is rounded to 

88,342 is rounded to 

3,672 is rounded to 

How many inches are in five 
feet?

7 63

word root fract can mean break fraction, fracture, infraction

Which is longer: one foot or 
fifteen inches?

+ 4
4 + 5 = 5 + +
+ + 2
2 8 = 0
= = 1 2 3 +
3 3 + 8 = 1
+ 3 7 +

0 3 =
8 =
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ACROSS

1. 4-Down plus 18-Across

3. Nine more than 17-Down

4. Seven times 11-Down

5. 4-Across plus 20-Across

8. 22-Across plus 13-Across

9. 15-Across plus 11-Down

10. 20-Across plus 25-Across

13. 14-Across plus 7-Down

14. Nine more than 20-Across

15. Three more than 22-Across

16. Four more than 14-Across

18. Nine less than 11-Down

20. 11-Down plus 18-Across

22. Two less than 11-Down

25. Eight less than 18-Across

DOWN

2. One more than 21-Down

4. Nine times 18-Across

6. 1-Across plus 4-Down

7. Five less than 19-Down

11. Nickels in two dollars
12. 17-Down plus 14-Across

13. Five less than 13-Across

17. Seven more than 4-Down

18. Three more than 1-Across

19. Four times 18-Across

21. Six less than 25-Across

23. Three more than 14-Across

24. 4 + 4 = 2 x ____

1 2 3

4 5 6 7

8 9

10 11 12 13

14

15 16

17 18 19

20 21 22 23

24 25

Make a pattern.
Start with 55.
Subtract 7.

, , , , ,

6 7 + 8 1 =

word root cred can mean believe credit, creed
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If you round the following numbers to the 
nearest hundred, how many of them would 
be 400?

350, 358, 358, 404, 490, 374, 352, 298, and 
636

A) 6

B) 2

C) 1

D) 7

114 ÷ 2 = 

A) 184

B) 57

C) 3760

D) 97

5.6 + 5.1 = 

A) 10.326

B) 40.1

C) 10.7

D) 117.117

What is 44,192 rounded to the nearest 
thousand?

A) 45000

B) 44200

C) 44000

D) 54000

What is the best way to estimate 1,563 x 
144,193?

A) 1,000 x 100,000

B) 6,000 x 100,000

C) 1,000 x 300,000

D) 2,000 x 100,000

Which answer is equivalent to
300,000 + 90,000,000 + 400?

A) 9300040

B) 90300400

C) 900304

D) 49003000
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Fill in the blanks by adding the two numbers below each hexagon.

21

11

9 2 8

13

7 2 2

31

7 13

2 2 5 8

42

7

3 9 2

41

18

5 4 5 9

23

13

6

3 4 2

Is 26 a composite or a 
prime number?

Name the shape with 
seven sides and seven 
angles.

You need to add what to 
49 to get 57?
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3 + 7 =

9 + 9 =

4 + 7 =

10 + 7 =

8 + 3 =

3 + 2 =

6 + 9 =

11 + 8 =

10 + 10 =

11 + 6 =

2 + 7 =

9 11 12 2 16 8 8 21 6 10 10 18 7 9 21 2

20 3 11 10 7 3 7 5 28 3 9 2 7 3 19 13

3 13 7 9 4 24 17 18 7 11 22 2 10 9 6 8

17 5 12 6 9 22 9 15 9 28 15 23 7 19 18 10

11 17 2 2 24 20 11 6 18 10 11 54 24 22 9 16

8 6 19 3 3 3 20 2 17 21 10 17 8 2 9 9

16 11 8 7 2 14 3 11 6 12 7 20 4 10 4 16

22 3 7 10 3 28 10 19 6 7 3 11 28 15 9 22

6 6 7 10 10 7 9 3 11 7 3 3 12 5 25 3

8 4 21 10 18 4 14 8 16 8 5 29 70 9 20 11

10 11 10 17 66 7 7 4 66 10 14 5 16 70 6 17

54 19 8 6 7 11 28 20 9 4 20 15 10 9 24 3

5 10 11 19 3 10 7 22 9 14 16 3 15 15 7 10

4 15 66 6 16 70 15 13 13 10 2 8 3 17 10 3

+ =

10

Write
operation.

Write = sign.

Circle.

8 + 6 =

4 + 6 =

5 + 3 =

3 + 9 =

9 + 11 =

9 + 12 =

8 + 7 =

2 + 4 =

11 + 7 =

11 + 11 =

3 + 6 =

8 3 12 8 2 6 11 16 3 9 6 20 11 3 11 8

11 17 16 7 8 7 15 18 3 17 15 56 17 2 8 2

20 3 20 10 1 2 11 14 6 11 17 13 22 20 11 2

6 9 3 20 7 10 6 4 8 11 7 20 20 17 12 7

9 18 6 3 16 8 6 22 9 22 28 13 11 11 3 7

13 28 3 7 10 24 25 24 15 5 3 8 3 5 8 9

15 56 2 24 17 0 6 10 14 6 15 3 7 14 2 23

48 17 12 22 11 6 11 12 9 9 17 21 18 6 77 77

6 8 6 14 15 21 6 11 11 22 7 7 12 19 4 24

7 24 6 3 9 22 8 4 7 48 11 5 21 9 27 3

17 15 14 20 77 3 11 11 24 6 9 23 8 9 4 8

7 9 26 14 12 8 11 6 7 9 2 3 22 11 11 11

5 4 22 4 12 3 8 2 4 2 4 6 3 9 12 20

+ =

14
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+ + =

+

=

34

47

23 ? 22

C A B

A A B

Each letter is a whole number.

Fill in the equations using the chart:

B + B = 22 + A = 23 + + = 34

+ + = 47
Additional hints:

A = B + 7 A < 25 C is the smallest.

Equations and Hints:

? =

Solve:

Show Work:
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